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Question Number : 1 Question Id : 9409185458 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not true with regard to the points presented in the Bruntdland
Commission Report (Our Common Future)?

1. Human Population is an asset as well as a liability

2. There is Non-Availability or less supply of food at places with the greatest need

3. Proliferation of the weapons of Mass destruction is a threat to international peace and
security

4. Disintegration of the Soviet Union is a threat to Human Security

Options :

94091820445. 1
94091820446. 2
94091820447. 3

94091820448. 4

Question Number : 2 Question Id : 9409185459 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Article XX of GATT deals with

1. Measures to be adopted to protect human, animal or plant life or health

2. Conservation of exhaustible natural resources

3. Progressive liberalization

4. Conservation of exhaustible natural resources and Measures to be adopted to protect

human, animal or plant life or health

Options :

94091820449. 1
94091820450. 2
94091820451. 3

94091820452. 4

Question Number : 3 Question Id : 9409185460 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Technical Barriers to Trade Agreement (TBT) was adopted in which round of GATT trade

negotiations?

1. Uruguay Round
2. Mexico Round
3. Panama Round
4. Tokyo Round

Options :

94091820453. 1
94091820454. 2
94091820455. 3
94091820456. 4

Question Number : 4 Question Id : 9409185461 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Country X files a complaint with the WTO Dispute Settlement Mechanism regarding
discrimination between imported and domestically produced goods with respect to internal
taxation or other government regulation in country Y. On what grounds would this complaint
have been filed by country X?

1. Violation of National Treatment Clause

2. Violation of the Most Favoured Nations Clause
3. Violation of Article XX of GATT

4. All of these

Options :

94091820457. 1
94091820458. 2
94091820459. 3
94091820460. 4

Question Number : 5 Question Id : 9409185462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Statement "A": There is a fundamental right to live in a clean and wholesome environment.

Statement “B" : The court in Ganga Pollution (tanneries) case declared that though closure of
tanneries could create un-employment and loss of revenue, yet it was the right to live in a
clean environment which mattered most to the citizens

On the basis of the above statements, which of the options given below is accurate

1. Statement "A"and "B" are correct and "B" supports "A” strongly
2. Statement "A”and "B" are correct but "B" does not support “A"
3. Both statements "A" and “B" are incorrect

4. None of these

Options:

94091820461. 1
94091820462. 2
94091820463. 3
94091820464. 4

Question Number : 6 Question Id : 9409185463 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The case Om Birangana religious society V. State is associated with

1. Article 15 of the Indian Constitution
2. Article 25 of the Indian Constitution
3. Article 35 of the Indian Constitution
4. Article 222 of the Indian Constitution

Options :

94091820465. 1
94091820466. 2
94091820467. 3

94091820468. 4

Question Number : 7 Question Id : 9409185464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is incorrect

1. All fundamental rights are justiciable

2. In State of Gujarat V. Mirzapur Moti Kureshi Kassab Jamat case, the Hon'ble court stated
that cruelty to such animals was a blot on our society and was thus unacceptable

3. The case Murali S. Deora V. Union of India deals with the banning of ivory trade

4. K. Hussain V. Union of India dealt with supply of potable water by pumping ground water in
the Islands of Lakshadweep

Options :

94091820469. 1
94091820470. 2
94091820471.3

94091820472. 4

Question Number : 8 Question Id : 9409185465 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Country "A" gives a certain preferential treatment to products imported from Country "Y", but
denies this benefit to country "Z". All three countries are members of the WTO and they do

not fall under any Regional Trading pact. All three countries are Developed Countries. Other
things being equal, which of the following cardinal WTO principle has been violated by country
AT

1. National Treatment Clause

2. Most Favoured Nations Principle
3. Substitution Principle

4. Prebisch Principle

Options :

94091820473. 1
94091820474. 2
94091820475. 3
94091820476. 4

Question Number : 9 Question Id : 9409185466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Country "Y", is a mass importer of mutton from Country “N". It finds that imported mutton
from "N" in recent times had traces of chemical agent "X", which is known to cause cancer in
consumers. This is due to the fact that the feed given to farm animals in Country "N" contained
agent “X". Under which of the following can country "Y" file a complaint in the WTO against
country “N"?

1. Sanitary and Phyto-sanitary Agreement
2. General Agreement on Trade in Services
3. Technical Barriers to Trade Agreement
4. None of these

Options :

94091820477. 1
94091820478. 2
94091820479. 3

94091820480. 4

Question Number : 10 Question Id : 9409185467 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is true regarding "Reverse Consensus™?

1. Even the complaining party has to vote against the panel establishment if it has to be
rejected

2. Even the complaining party has to vote in favour of the panel if it has to be rejected

3. Neither party has to vote on the panel

4. None of these

Options :

94091820481. 1
94091820482. 2
94091820483. 3
94091820484. 4

Question Number : 11 Question Id : 9409185468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The major criticisms leveled against CDMs are

1. Deliberate attempts to worsen the baseline
2. Lack of effective alternatives

3. Implementation Issues

4. All of these

Options :

94091820485. 1
94091820486. 2
94091820487. 3

94091820488. 4

Question Number : 12 Question Id : 9409185469 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Article 48A and Article 51A (g) were introducted by which of the following amendment?

1. 41%t Amendment to the Indian Constitution

2.42™ Amendment to the Indian Constitution
3. 439 Amendment to the Indian Constitution
4. 44" Amendment to the Indian Constitution

Options :

94091820489. 1
94091820490. 2
94091820491. 3

94091820492. 4

Question Number : 13 Question Id : 9409185470 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr."X" carries Sharp Knives, Grated Sharp sticks capable of causing injury to animals and
traps along with him to a protected forest. While entering the forest, he is detained by forest
guards. Mr."X" is instructed to abandon his weapons before entering the forest. Which of the
above instruments will he have to abandon?

1. Sharp Knives

2. Grated Sharp sticks capable of causing injury to animals
3. Traps

4. All of these

Options :

94091820493. 1
94091820494. 2
94091820495. 3
94091820496. 4

Question Number : 14 Question Id : 9409185471 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ms."Y" is found guilty of Capturing, killing, poisoning, snaring & trapping of wild animals.
Under the Wildlife Act, the above mentioned action is covered under

1. Taxidermy
2. Hurting
3. Hunting
4. Harming

Options :

94091820497. 1
94091820498. 2
94091820499. 3
94091820500. 4

Question Number : 15 Question Id : 9409185472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following cases, the aspect of “non-natural use of land” was dealt with?

1. Smith V Rogers

2. Taj Trapezium case
3. Rylands v. Fletcher
4. Godavarman Case

Options :

94091820501. 1
94091820502. 2
94091820503. 3

94091820504. 4

Question Number : 16 Question Id : 9409185473 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the AIR Act, which of the following is the most accurate defnition of Air Pollution

1. The presence of such toxic solids in air which shall be fatal to life

2. The Presence of such liquids in air which shall be fatal to life

3. The presence in the atmosphere of any air pollutant, that is, any solid, liquid or gaseous
substance (including noise present in the atmosphere in concentration) as may be or tends
to be injurious to human beings or other living creatures or plants or properties of the
environment

4. None of these

Options :

94091820505. 1

94091820506. 2

94091820507. 3

94091820508. 4

Question Number : 17 Question Id : 9409185474 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Prior Informed Cansent (PIC) of the Convention on Biological Diversity (CBD) should include

the following

1. Legal certainty and clarity

2. Access to genetic resources should be at minimum cost

3. Restrictions on access to genetic resource should be transparent and based on legal
grounds and should not run contrary to the objectives of the convention

4. All of these

Options :

940918205009. 1
94091820510. 2
94091820511. 3

94091820512. 4

Question Number : 18 Question Id : 9409185475 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The Common Agriculture Policy of the European Union (EU) utilizes which of the following

policies?

1. Market Price Support
2. Subsidies

3. Both (1) and (2) above
4. None of these

Options :

94091820513. 1
94091820514. 2
94091820515. 3

94091820516. 4

Question Number : 19 Question Id : 9409185476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to the Forest Act 1980, clearance of forest land for creating a tea plantation is a

1. Forest Purpose

2. Non-Forest Purpose

3. Developmental Purpose
4. All of these

Options :

94091820517. 1
94091820518. 2
94091820519. 3
94091820520. 4

Question Number : 20 Question Id : 9409185477 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mrs.X lavishly purchases a luxury car in an effort to project herself as superior to other car
owners in her locality. Her consumption behavior can be termed as

1. Terminal Consumption

2. Presumptive consumption
3. Irresponsible Consumption
4. Conspicuous consumption

Options :

94091820521. 1
94091820522. 2
94091820523. 3
94091820524. 4

Question Number : 21 Question Id : 9409185478 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

a. The world cereal production has far outstripped the growth rate in human population

b. Food is not available in adequate quantities at places where it is required

c. There is massive malnutrition and deficiency in food availability in some parts of the world

In the light of the Brundtland Commission report which of the following is most accurate?

1. All three statements are true and statement (a) and (b) contribute to the condition
mentioned in statement (c)

2. All three statements are true and statement (b) contribute to the condition mentioned in
statement (c)

3. All three statements are false

4. None of the above

Options:

94091820525. 1

94091820526. 2

94091820527. 3

94091820528. 4



Question Number : 22 Question Id : 9409185479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Chief Wild life warden shall permit picking of plant varieties specified under 17(A) for

1. Education

2. Collection, preservation & display in a Herbarium
3. Scientific Research

4. All of these

Options :

94091820529. 1

94091820530. 2

94091820531. 3

94091820532. 4

Question Number : 23 Question Id : 9409185480 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The establishment, recognition and application of common sanitary and Phyto-sanitary
measures by different members (under the SPS Agreement) is known as

1. Rationalization
2. Synthesization

3. Harmonization
4. Duplication
Options :
94091820533. 1
94091820534. 2
94091820535. 3

94091820536. 4

Question Number : 24 Question Id : 9409185481 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A normal Environment Impact Assessment (EIA) process does not pass through which of the

following stages?

1. Contact Tracing

2. Screening

3. Scoping

4. Public Consultation
Options :
94091820537. 1
94091820538. 2
94091820539. 3

94091820540. 4

Question Number : 25 Question Id : 9409185482 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements in the context of the National Treatment Clause:
a. Imported and locally-produced goods and services should be treated equally

b. National treatment only applies once a product or service has entered the domestic market

c. Charging customs duty on an import is not a violation of national treatment principle

1. Statement (a) and (b) are correct, while (c) is incorrect
2. Statements (a),(b) and (c) are all correct
3. Statements (a) and (c) are correct, while statement (b) is incorrect

4. None of these

Options :

94091820541. 1
94091820542. 2
94091820543. 3

94091820544. 4

Question Number : 26 Question Id : 9409185483 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Name the layer which covers the entire earth and protects it like a shield from the harmful rays

of the sun?

1. Crust

2. Mantle

3. Ozone

4 None of these
Options :
94091820545. 1
94091820546. 2
94091820547. 3

94091820548. 4

Question Number : 27 Question Id : 9409185484 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true from the perspective of the Godavarman Cases

1. Mining permits in National Parks, Sanctuaries and forest area that were likely to expire
before the next hearing were allowed to continue and such companies shall deposit Rs. 50
Crores with CEC

2. The welfare activities such as hospitals, schools, rain harvesting and construction of village
roads were exempted from the levy of NPV

3. Revenue earning activities of the states were exempted from the levy of NPA

4. Mining permits in National Parks, Sanctuaries and forest area that were likely to expire
before the next hearing were allowed to continue and such companies shall deposit Rs. 50
Crores with CEC and welfare activities such as hospitals, schools, rain harvesting and
construction of village roads were exempted from the levy of NPV

Options :

94091820549. 1
94091820550. 2
94091820551. 3

94091820552. 4



Question Number : 28 Question Id : 9409185485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The concept wherein there is a harmonious development and utilization of land, water,
vegetation, human, animal and other resources on an integrated basis is

1. Disaster Management

2. Ecological Management
3. Watershed Management
4. None of these

Options :

94091820553. 1
94091820554. 2
94091820555. 3

94091820556. 4

Question Number : 29 Question Id : 9409185486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process of the earth’'s warming up and rise in temperature is known as what?

1. Melting
2. Global warming
3. Heating
4. Boiling

Options :

94091820557. 1
94091820558. 2
94091820559. 3

94091820560. 4

Question Number : 30 Question Id : 9409185487 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: The International Solar Alliance is an effort to harness solar energy to meet the
energy needs of the future. India is a prominent member of the alliance.

Reason R: Countries of South Asia do not have adequate supply of sunlight.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

94091820561. 1
94091820562. 2
94091820563. 3
94091820564 4

Question Number : 31 Question Id : 9409185488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“The Access and Benefit-sharing Clearing-House (ABS Clearing-House) is a platform for
exchanging information on access and benefit-sharing established by Article 14 of the
Protocol, as part of the Clearing-House of the Convention established under Article 18,
paragraph 3 of the Convention. The ABS Clearing-House is a key tool for facilitating the
implementation of the Nagoya Protocol, by enhancing legal certainty and transparency on
procedures for access and benefit-sharing, and for monitoring the utilization of genetic
resources along the value chain, including through the internationally recognized certificate of
compliance. By hosting relevant information regarding ABS, the ABS Clearing-House will offer
opportunities for connecting users and providers of genetic resources and associated
traditional knowledge”.

(Extract from "Nagoya Protocol on Access and Benefit-sharing” website)
Please read the extract carefully and choose the elements which have been mentioned in it:

1. The Clearinghouse will provide avenues for linking suppliers and users of genetic resources

2. The ABS Clearing House provides legal clarity and transparency on procedures for access
and benefit-sharing

3. A platform for exchanging information on access and benefit-sharing is established by
Avrticle 14 of the Protocol

4. All of these

Options :

94091820565. 1

94091820566. 2

94091820567. 3

94091820568. 4

Question Number : 32 Question Id : 9409185489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these is an outcome of Industrialization?

1. Pollution

2. Deforestation

3. Ozone depletion
4. All of these

Options:

94091820569. 1



94091820570. 2
94091820571. 3

94091820572. 4

Question Number : 33 Question Id : 9409185490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is not a Matural Disaster?

1. Earthquake

2. Tsunami

3. Earthquake and Tsunami
4. The Bhopal Gas Tragedy
Options:

94091820573. 1
94091820574. 2
94091820575. 3

94091820576. 4

Question Number : 34 Question Id : 9409185491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Technical requirements, particularly for the hygiene and safety of products, have
become one of the greatest barriers to trade for many producers

Reason R: Sanitary and Phytosanitary Measures (the SPS Agreement) aims to provide the
balance between the right of governments to protect food safety, plant and animal health, and
prevent these sanitary and phytosanitary measures from being unjustified trade barriers

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

94091820577. 1
94091820578. 2
94091820579. 3

94091820580. 4

Question Number : 35 Question Id : 9409185492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which technique is used for conserving water?

1. Building check dams
2. Rain water Harvesting
3. Both (1) and (2)

4. None of these

Options:

94091820581. 1
94091820582. 2
94091820583. 3

94091820584. 4



Question Number : 36 Question Id : 9409185493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The epicenter of the Earthquake which occurred in Gujarat in the year 2001 was at which

place?

1. Ahmedabad
2. Saurashtra
3. Nadiad

4. Bhuj

Options :

94091820585. 1
94091820586. 2
94091820587. 3

94091820588. 4

Question Number : 37 Question Id : 9409185494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following:

a. Statement of Problem: Our dependence on fossil fuels is an issue of great concern. In the
coming decades, India has to reduce its dependence on Fossil Fuels as a source of energy
inorder to protect our environment

b. Statement of proposed solution: India has invested heavily and will be investing more in
the coming years for harnessing solar energy

Based on (a) and (b) above, which of the following statements is most accurate?

1. (a) is an important problem concerning the environment in India and (b) could be one of
the solutions

2. (a) is an important problem concerning the environment in India and (b) is the only solution

3. (a) is an important problem concerning the environment and (b) is not a solution

4, None of these

Options :
94091820589. 1

94091820590. 2



94091820591. 3
94091820592. 4

Question Number : 38 Question Id : 9409185495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the “Low Hanging Fruit Problem” confronting Developing Countries with regard to

carbon emission in the context of carbon emissions?

1. Developing Countries trade away the cheapest possibilities of reducing carbon emissions
and then are forced to purchase costly packages for meeting their obligations under
various international agreements

2. The carbon emissions cause defects in the fruits of highly polluted countries and as a result

get low returns when sold
3. Increasing carbon emissions result in diminishing returns from the production process

4 None of these

Options :

94091820593. 1
94091820594. 2
94091820595. 3

94091820596. 4

Question Number : 39 Question Id : 9409185496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The concentration of which gas is highest in the atmosphere is

1. Nitrogen

2. Carbon dioxide
3. Oxygen

4. None of these

Options :

94091820597. 1
94091820598. 2
94091820599. 3



94091820600. 4

Question Number : 40 Question Id : 9409185497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wild Life Warden under the Wildlife Act shall not have the power to

1. Issue a search warrant

2. Ensure the attendance of witnesses

3. Compel the discovery and production of documents and material objects
4. Impose punishment with an imprisonment over 15 years

Options :

94091820601. 1
94091820602. 2
94091820603. 3

94091820604. 4

Question Number : 41 Question Id : 9409185498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The analysis of “Secular deterioration in the terms of trade of the Least Developed and the
Developing Countries” is associated with which of the following economists

1. Amartya Sen

2. Robert E Lucas

3. Kruger

4. Prebisch and Singer

Options:

94091820605. 1
94091820606. 2
94091820607. 3
94091820608. 4

Question Number : 42 Question Id : 9409185499 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

7

Where is the Silent valley located in India

1. West Bengal

2. Andhra Pradesh
3. Kerala

4 Goa

Options :

94091820609. 1
94091820610. 2
94091820611. 3

94091820612. 4

Question Number : 43 Question Id : 9409185500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

This disaster is mainly caused by the movement of massive land areas called tectonic plates on
the earth's crust. What is the name of this disaster?

1. Floods

2. Earthquakes
3. Hurricane

4, None of these

Options :

94091820613. 1
94091820614. 2
94091820615. 3

94091820616. 4

Question Number : 44 Question Id : 9409185501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Within the terms of reference of the National Green Tribunal Act 2010, the concept of a

“person” includes

1. Hindu Undivided Family (HUF)
2. An Individual

3. Artificial Person

4. All of these

Options :

94091820617. 1
94091820618. 2
94091820619. 3
94091820620. 4

Question Number : 45 Question Id : 9409185502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In India, Sunderlal Bahuguna, a noted environmentalist initiated a movement for the
preservation of forests, what is the name of this movement?

1. Project Tiger

2. Chipko Movement
3. Appiko Movement
4. None of these
Options :
94091820621. 1
94091820622. 2
94091820623. 3

94091820624. 4

Question Number : 46 Question Id : 9409185503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Suppose that there are two neighboring countries —"X" and “Y". “X" is a known advocate of
environmental protection and spends billions of dollars every year to clean up the
environment and also to develop carbon efficient technologies. “Y” benefits from the actions
taken by "X" (being the neighbouring country) but does not contribute towards environmental
protection and also does not invest in carbon efficient technologies. This behavior of country
“Y" can be stated as

1. Cloud Sourcing

2. Free-Riding

3. Principal -Agent Problem
4. None of these

Options :

94091820625. 1
94091820626. 2
94091820627. 3

94091820628. 4

Question Number : 47 Question Id : 9409185504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

a. Issue: India has seen over the years a number of peaceful protests for the protection of the

environment

b. Enabling Factor: Article 19(1)(a) guarantees the freedom of speech and expression and
Article 19(1)(b) assures citizens the right to assemble peaceably and without arms

1. Both (a) and (b) are true and (b) is the appropriate enabling factor that makes (a) possible
2. Both (a) and (b) are incorrect

3. Both (a) and (b) are correct but (b) is not the enabling factor that makes (a) possible

4. None of these

Options:

94091820629. 1
94091820630. 2
94091820631. 3
94091820632. 4



Question Number : 48 Question Id : 9409185505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What would you to do to preserve the Environment and Society in which you live?

1. Waste Water

2. Grow more Trees

3. Use more plastics

4. Grow more Trees and use more plastics

Options :

94091820633. 1
94091820634. 2
94091820635. 3

94091820636. 4

Question Number : 49 Question Id : 9409185506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Country "X" is fighting negarive externalities caused by cigarette smoking in the society. You

are the economic advisor of country "X". You are convinced that a "Pigouvian tax" can sclve

the problem. Based on this conviciton, which of the following policy directions would you give
to the government of country X?

1. Recommend a complete ban on the scale of cigarettes in the country

2. Recommend for lowering the supply of cigarettes in the country which will raise the price of
the product in the market, thereby taxing the buyers

3. Propose a tax on market transactions on cigarettes

4. None of the above

Options :

94091820637. 1
94091820638. 2
94091820639. 3

94091820640. 4



Question Number : 50 Question Id : 9409185507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can be designated as “global Commons”

1. Antartica

2. Open 5Seas
3. Outer Space
4. All of these

Options :

94091820641. 1
94091820642. 2
94091820643. 3
94091820644. 4

Question Number : 51 Question Id : 9409185508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is used for adequate light arrangements in Hydroponics?

1. Metal halide lamps
2. Grow-lights

3. Sodium vapor lamps
4. All of these

Options :

94091820645. 1
94091820646. 2
94091820647. 3

94091820648. 4

Question Number : 52 Question Id : 9409185509 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“Perhaps our most urgent task today is to persuade nations of the need to return to
multilateralism. The challenge of reconstruction after the Second World War was the real
motivating power behind the establishment of our post-war international economic system.
The challenge of finding sustainable development paths ought to provide the impetus -
indeed the imperative - for a renewed search for multilateral solutions and a restructured
international economic system of co-operation. These challenges cut across the divides of
national sovereignty, of limited strategies for economic gain, and of separated disciplines of

science”.

(Extract from Report of the World Commission on Environment and Development: Our

Common Future)
Which of the following is implied in the extract given above?

1. Many countries of the world are resorting to unilaterialism

2. The challenges in the path of Sustainable Development cut across national boundaries,
boundaries set by scientific disciplines and limited strategies for economic gain

3. Unilateral solutions are at times better than multilateral ones

4. Many countries

Options :

94091820649. 1
94091820650. 2
94091820651. 3

94091820652. 4

Question Number : 53 Question Id : 9409185510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Rio Declaration how many principles are included on Sustainable Development?

1. 27
2.6
3.33
4.25

Options:

94091820653. 1
94091820654. 2
94091820655. 3



94091820656. 4

Question Number : 54 Question Id : 9409185511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per the results received from the studies using Water foot print (in the context of this
course), which among the following is the product which uses the most amount of water for
production?

1. Sugar

2. Cereals

3. Milk

4. Cross bred meat

Options :

94091820657. 1
94091820658. 2
94091820659. 3

94091820660. 4

Question Number : 55 Question Id : 9409185512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Expansion of CIAL is

1. Chapter of Indian Airlines Limited

2. Centre for International Aviation License
3. Cochin International Airport Limited

4. None of these

Options:

94091820661. 1
94091820662. 2
94091820663. 3
94091820664. 4



Question Number : 56 Question Id : 9409185513 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"The Western Ghats are second only to the Eastern Himalaya as a treasure trove of biological
diversity in India. Originally recognized as among the several global hotspots of biodiversity',
the Western Ghats along with its geographical extension in the wet zone of Sri Lanka are now
also considered one of the eight ,hottest hot spots’ of biodiversity (Myers et al. 2000). At the
same time, the high human population density and major transformation of the landscape
since the mid-18th century also emphasize the urgency of conservation of the Ghats and
sustainable use of its resources. A study in the southern region, comprising the states of
Karnataka, Kerala and Tamil Nadu, showed that between 1920-1930 about 40% of the original
vegetation cover was lost or converted to another form of land use (Menon and Bawa 1997). It
is estimated that not more than about 7% of the area of the Western Ghats is presently under
primary vegetation cover, though a much larger area is under secondary forest or some form
of tree cover. Nearly 15% of the Ghats is also under the Protected Area system.”

(Extract from Gadgil Committee Report on the Western Ghats)
Which of the following is not implied in the passage given above

1. High human population density and major transformation of the landscape of the western
ghats have necessitated urgent conservation efforts

2. The Western Ghats are no longer considered to be a bio-diversity hotspot

3. Less than 10% of the Western Ghats is presently under primary vegetation cover

4 None of these

Options:

94091820665. 1
94091820666. 2
94091820667. 3
94091820668. 4

Question Number : 57 Question Id : 9409185514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Supporting Domestic environmentalism includes

1. Water Conservation
2. Reuse of Plastic

3. Waste Management
4. All these

Options :

94091820669. 1
94091820670. 2
94091820671. 3

94091820672. 4

Question Number : 58 Question Id : 9409185515 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The research tool developed by AY. Hoekstra to assess usage of water in various

sectors/usages is

1. Water index

2. Water footprint
3. Water utility scale
4. None of these

Options :

94091820673. 1
94091820674. 2
94091820675. 3
94091820676. 4

Question Number : 59 Question Id : 9409185516 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The mechanism through which the World Trade Organization settles trade and related conflicts
among its members is called

1. Antidote Mechanism

2. Solution Mechanism

3. Dispute Settlement Mechanism
4. Trade Harmonization Mechanism

Options :

94091820677. 1
94091820678. 2
94091820679. 3
94091820680. 4

Question Number : 60 Question Id : 9409185517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fnvironmental Studies is

1. Uni-disciplinary in nature
2. Bi-Disciplinary in nature

3. Multi-Disciplinary in nature
4. None of these

Options :

94091820681. 1
94091820682. 2
94091820683. 3

94091820684. 4

Question Number : 61 Question Id : 9409185518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the following statements

a. Examination oriented learning culture without functional awareness will not help us in
achieving the real objectives of environmental education

b. The Student Empowerment for Environmental Development (SEED) Programme promotes
functional activities among students to promote environmental awareness

Which of the following is appropriate with regard to the above statements

1. Both statements are true
2. Both statements are false
3. Statement (a) is true while statement (b) is false
4. Statement (b) is true while statement (a) is false

Options :

94091820685. 1
94091820686. 2
94091820687. 3
94091820688. 4

Question Number : 62 Question Id : 9409185519 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List Il

A, Attitude l. Legal Concept

B. Pigouvian Tax |ll.Scientific tool/Concept
C. Strict Liability  |lll. Economic Concept
D. Water Footprint|IV.Cognitive Concept

Choose the correct answer from the options given below:

Lol HE B E N B
2e 8= B C B
Sl W B E L B
S S L LB BB I B |

Options :
94091820689. 1
94091820690. 2



94091820691. 3
94091820692. 4

Question Number : 63 Question Id : 9409185520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kayaks are

1. Ships

2. Small boats

3. Activists for conserving water
4. None of these

Options :

94091820693. 1
94091820694. 2
94091820695. 3

94091820696. 4

Question Number : 64 Question Id : 9409185521 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Constructivist approach learning is

1. Studying

2. Information processing
3. Reflecting

4. Criticism

Options :

94091820697. 1
94091820698. 2
94091820699. 3

94091820700. 4



Question Number : 65 Question Id : 9409185522 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The excessive exploitation of ground water, low rain fall, deforestation, drought etc are the
main reasons for

1. Pollution

2. Ground water depletion
3. Global warming

4. Climate change

Options:

94091820701. 1
94091820702. 2
94091820703. 3
94091820704. 4

Question Number : 66 Question Id : 9409185523 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List 1 with List 11

List | List Il

Person Associated Field

A. Medha Patkar l. Environmental, Tribal and Dalit Activism
B.Hugo Grotious ll.Conspicuous Consumption

C.Veblen ll. Law of the sea

D. Kasturirangan IV. Report on the Western Ghats

Choose the correct answer from the options given below:

T.A-M,B-II,C4,B-V
2. K-LE-L, -, -1
2. AN B, 1, D=
4 KB, - D=l

Options:
94091820705. 1

94091820706. 2



94091820707. 3
94091820708. 4

Question Number : 67 Question Id : 9409185524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of Hugo Grotious is associated with which of the following work?

1. Mare vivendi
2. Mare Liberum
3. Mare Salut

4. None of these

Options :

94091820709. 1
94091820710. 2
94091820711. 3

94091820712. 4

Question Number : 68 Question Id : 9409185525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HREM is referred in the course as a

1. Management Strategy
2. Learning Strategy only
3. Teaching Learning strategy
4. Teaching strategy only

Options :

94091820713. 1
94091820714. 2
94091820715. 3

94091820716. 4



Question Number : 69 Question Id : 9409185526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The technology used to ascertain the migratory patterns and routes of Sea turtles is

1. Satellite telemetry
2. Sonar

3. Telescope

4. Infrared Tracking

Options:

94091820717. 1
94091820718. 2
94091820719. 3

94091820720. 4

Question Number : 70 Question Id : 9409185527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List I with List 11

List | List Il

Name of the Court Case Subject Matter

A. Murli Deora Case l. Absolute Liability

B. Taj Trepezium Case Il. Strict Liability

C. Rylands v. Fletcher Case ll. Protection of the Taj Mahal

D. Shriram Food and Fertilizers Case IV. Protection of Ground Water
. Ban on Public Smoking

Choose the correct answer from the options given below:

1.A-V,B-Il,C-ll,D-I

2A-V,B-IV,C-ll,D-l
3.A-IV,B-IIl,C-II,D-lli
4. A-IV,B-V,C-lll,D-l

Options:
94091820721. 1
94091820722. 2



94091820723. 3

94091820724. 4

Question Number : 71 Question Id : 9409185528 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FIA in the context of this course stands for

1. Environment Investment Agency
2. Environment Impact Assessment
3. Environment Induced Awareness
4. None of these

Options :

94091820725. 1
94091820726. 2
94091820727. 3

94091820728. 4

Question Number : 72 Question Id : 9409185529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Gadgil Panel’s concept of “"Adaptive Co- Management” does not include

1. Learning by doing

2. Collaboration and sharing of power with local communities

3. Adopting flexibility in management

4. Ruling out any role of the state government in the development processes

Options :

94091820729. 1
94091820730. 2
94091820731. 3

94091820732. 4



Question Number : 73 Question Id : 9409185530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SEED —the Student Empowerment for Environmental Development started in the academic
year

1. 2008-09
2. 2009-10
3.2011-12
4. 2012-13
Options :
94091820733. 1
94091820734. 2
94091820735. 3

94091820736. 4

Question Number : 74 Question Id : 9409185531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The airport which runs fully (100%) with the support of Solar energy is

1. Chhatrapati Shivaji Maharaj International Airport
2. Cochin International Airport Limited

3. Rajiv Gandhi International Airport

4. Netaji Subash Chandra bose International Airport

Options :

94091820737. 1
94091820738. 2
94091820739. 3

94091820740. 4

Question Number : 75 Question Id : 9409185532 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The cultivation of plants without soil is specifically known as

1. Mundakan

2. Terrace cultivation
3. Hydroponics

4 Vertical Cultivation
Options :
94091820741. 1
94091820742. 2
94091820743. 3

94091820744. 4

Question Number : 76 Question Id : 9409185533 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When both wind turbine and solar panels are combined to meet power needs, it is referred to
as

1. Solar wind hybrid system
2. Complex system

3. Combiner system

4. None of these

Options :

94091820745. 1
94091820746. 2
94091820747. 3

94091820748. 4

Question Number : 77 Question Id : 9409185534 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A.Maneka Gandhi Case

B.F.K.Hussain Case

C.Mudappa Case

D.Godavarman Case

E.Kamalnath Case

F. D.K.Basu Case

Choose the odd cases (s) out from the options given below

1. A B, C.
2 ADE
3. AF

4. AE,

Options :

94091820749. 1
94091820750. 2
94091820751. 3

94091820752. 4

Question Number : 78 Question Id : 9409185535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a series connection of Solar panels

1. both voltage and current remains constant

2. current is added up but voltage remains constant
3. current remains constant but voltage gets added up
4. None of these

Options :

94091820753. 1
94091820754. 2
94091820755. 3

94091820756. 4



Question Number : 79 Question Id : 9409185536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The extensive use of fossil fuels is wrecking havoc on the environment

Reason R: The SEED programme seeks to popularize practical and positive environmental
values among the younger generation.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A'is false but R is true

Options:

94091820757. 1
94091820758. 2
94091820759. 3
94091820760. 4

Question Number : 80 Question Id : 9409185537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is the greatest and a natural source of energy?

1. Sun
2. Coal
3. LPG
4. None of these

Options :
94091820761. 1
94091820762. 2

94091820763. 3



94091820764. 4

Question Number : 81 Question Id : 9409185538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following are Sustainable Development Goals (SDGs)?

1. No Poverty

2. Good Health and Well-being
3. Reduced Inequality

4. All of these

Options :

94091820765. 1
94091820766. 2
94091820767.3

94091820768. 4

Question Number : 82 Question Id : 9409185539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Generation of electricity from solar panels is done using the technology referred to as

1. Green technology

2. Sunlight technology

3. Photovoltaic technology
4. None of these

Options:

94091820769. 1
94091820770. 2
94091820771.3

94091820772. 4

Question Number : 83 Question Id : 9409185540 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Solar type water heater that works on the principle of creating a vacuum, is

1. Evacuated Tube Collector

2. Flat Type Collector

3. Evacuated Tube Collector and Flat Type Collector
4. None of these

Options :

94091820773. 1
94091820774. 2
94091820775. 3

94091820776. 4

Question Number : 84 Question Id : 9409185541 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

International Environment Day is celebrated on

1. June 5

2. March 15

3. September 20
4. October 25

Options :

94091820777. 1
94091820778. 2
94091820779. 3
94091820780. 4

Question Number : 85 Question Id : 9409185542 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : In the Ganga Tanarries Case, it was held that closure of tanneries may bring
unemployment, loss of revenue, but life, health and ecology have greater importance to the

people

Reason R: In the Shriram Foods and Fertilizer Company Case, the Hon'ble court upheld
the principle of Strict Liability over that of Absolute Liability to uphold every citizen's right to
life.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

94091820781. 1
94091820782. 2
94091820783. 3

94091820784. 4

Question Number : 86 Question Id : 9409185543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is utilised in Solar Thermal Technology?

1. Sun’s heat

2. Sun’s light

3. Sun’s heat and Sun’s light
4. None of these

Options:

94091820785. 1
94091820786. 2
94091820787.3

94091820788. 4



Question Number : 87 Question Id : 9409185544 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"The Commission has sought ways in which global development can be put on a sustainable
path into the 21st Century. Some 5,000 days will elapse between the publication of our report
and the first day of the 21st Century. What environmental crises lie in store over those 5,000
days? During the 1970s, twice as many people suffered each year from ‘natural’ disasters as
during the 1960s. The disasters most directly associated with environment/development
mismanagement - droughts and floods - affected the most people and increased most sharply
in terms of numbers affected. Some 18.5 million people were affected by drought annually in
the 1960s, 24.4 million in the 1970s. There were 5.2 million flood victims yearly in the 1960s,
15.4 million in the 1970s. Numbers of victims of cyclones and earthquakes also shot up as
growing numbers of poor people built unsafe houses on dangerous ground. The results are
not in for the 1960s. But we have seen 35 billion afflicted by drought in Africa alone and tens
of millions affected by the better managed and thus less-publicized Indian drought. Floods
have poured off the deforested Andes and Himalayas with increasing force. The 1960s seem
destined to sweep this dire trend on into a crisis-filled 1990s."

Extract from "Our Common Future”
Which of the following is implied in the passage given above?

1. The commission fears that many environmentally adverse events may happen in the 5000
days after the publication of the report

2. Environmental disasters due to environment/development mismanagement have frequently
occured in the years preceding the publication of the report.

3. The Himalayas have been unaffected by the negative effects of environment/development
mismanagement

4. Only (1) and (2) above

Options:

94091820789. 1

94091820790. 2

94091820791. 3

94091820792. 4

Question Number : 88 Question Id : 9409185545 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Plastic has been classified in terms of different

1. Grades
2. Colours
3. Volume
4. None of these

Options :

94091820793. 1
94091820794. 2
94091820795. 3
94091820796. 4

Question Number : 89 Question Id : 9409185546 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In case of a Wind turbine, which among the following is true?

1. It converts potential energy of wind into electricity
2. It converts kinetic energy of wind into electricity

3. both (1) and (2)

4. None of these

Options :

94091820797. 1

94091820798. 2

94091820799. 3

94091820800. 4

Question Number : 90 Question Id : 9409185547 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consumerism refers to

1. Acquiring of goods in increasing levels
2. Giving away goods in increasing levels
3. Avoiding purchase of goods

4. None of these

Options :

94091820801. 1
94091820802. 2
94091820803. 3
94091820804. 4

Question Number : 91 Question Id : 9409185548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: Public Smoking infringes the right to life enunciated under Article 21 of the
Indian Constitution

Statement II: Article 21 includes the right to live in a pollution free environment

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

94091820805. 1
94091820806. 2
94091820807. 3

94091820808. 4

Question Number : 92 Question Id : 9409185549 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Flat type collector Solar Cookers makes use of tubes made of

1. Copper

2. Gold

3. Silver

4. Aluminium

Options :

940918208009. 1
94091820810. 2
94091820811. 3

94091820812. 4

Question Number : 93 Question Id : 9409185550 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List 11

I. Treatment of products from domestic producers and foreign
A. Water Cycle

producers alike.

B.National Treatment |[IIl. Non- Discrimination among trading partners

, lI.The natural process by which water gets continuously circulated in
C. EU-Singapore FTA :
our environment

D. Most Favoured

: IV.Explicit exception for subsidies for environmental purposes
Nations

Choose the correct answer from the options given below:

TA-L,B-IL,C-LD-IV
2A-W,B-1C-IV,D-ll
3.A-LB-IV,C-II,D-I
4. A-Il,B-,C-I,D-IV

Options:

94091820813. 1
94091820814. 2
94091820815. 3



94091820816. 4

Question Number : 94 Question Id : 9409185551 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Air Act and the Water Act are similar in many aspects, but there are important issue areas

in which their powers differ. One such area is

1. the air act specifies air control zones whereas the Water Act does not have similar schemes
2. the difference in the power to declare air & water augmentation zones

3. the difference in the procedure to appoint the members of boards

4. None of these

Options :

94091820817. 1
94091820818. 2
94091820819. 3

94091820820. 4

Question Number : 95 Question Id : 9409185552 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who among the following cannot become a member of the Central or State Board under the
Air Act?

1. .A person declared as being of unsound mind by a competent court

2. A person who has been convicted of an offense involving moral turpitude
3. A person who is adjusted insolvent

4. All of these

Options:

94091820821. 1
94091820822. 2
94091820823. 3

94091820824. 4



Question Number : 96 Question Id : 9409185553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When Sclar panels are in parallel connection

1. Both current and voltage remains constant

2. Current remains constant but voltage gets added up
3. Current is added up but voltage remains constant
4. None of these

Options :

94091820825. 1
94091820826. 2
94091820827. 3

94091820828. 4

Question Number : 97 Question Id : 9409185554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following functions somewhat similar to that of a dam?

1. Tidal Turbines
2. Tidal Fences
3. Tidal barrage
4. All of these

Options :

94091820829. 1
94091820830. 2
94091820831. 3

94091820832. 4

Question Number : 98 Question Id : 9409185555 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A. Conditions of benefit sharing
B. Obligations of parties

C. Timings

D. Offset Clauses

E. Attrition Clause

On the basis of the entries provided above choose the correct answer (combination) from the
options given below as regards the coverage of Benefit sharing on Mutually Agreed
Terms(MAT) under the Bonn Guidelines

1. A B and C only
2.AD and E only
3.C,D and E only
4. B,C and D only

Options :

94091820833. 1
94091820834. 2
94091820835. 3
94091820836. 4

Question Number : 99 Question Id : 9409185556 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A. In the case, State of Tripura V. Sudhir Kumar, the court stated that the Forest Actis not a
mere taxing structure, but one that is aimed at preserving, protecting and promoting forest

wealth

B. The Common Agriculture Policy (CAP) provided trade distorting subsidies including those
aimed at aiding exports which gave producers of the European Union an unfair advantage
over the agricultural exporters from other countries

C..The 42nd Constitutional Amendment of 1976 Introduced Article 51A(g) to the constitution
D.The nature of the Indian constitution can be termed as rigid as well as flexible
E.The Fundamental Rights provided in the Indian constitution are non-justiciable

Which of the combinations provided in the options given below is correct based on the

statements given above?

1.A, B CDE
2. AB,C and E only
3. AB,CD only
4. AC,D and E only

Options :

94091820837. 1
94091820838. 2
94091820839. 3
94091820840. 4

Question Number : 100 Question Id : 9409185557 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match List I with List 11

List |

List Il

A. The poem PAKA(enemity)

I.Medha Patkar

B.Absolute Liability

Il.Godavarman Case

C. All shade trees felled in Janmam areas of Tamil Nadu were to be
transferred to the State Government

lIl. M.C.Mehta

D. Narmada Bachao Andolan

V.
Kattakada Murukan

/. Vandana Siva

Choose the correct answer from the options given below:

TLA-IV,B-lI,C-Il,D-I
2A-IW,B-V,C-lll,D-l
3.A-1,B-II,C-Il,D-IV
4 A-IV,B-Il,C-I,D-V

Options :

94091820841. 1
94091820842. 2
94091820843. 3

94091820844. 4




